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NEW QUESTION 1
A mission-critical server is connected to site A. Connectivity to this server is lost from site B because the MAC route is missing in the OTV VDC of the Nexus 7000
in site B due to MAC aging. Which action allows the flooding of the unknown unicast MAC on the Nexus 7000 in the OTV VDC?

A. Use route-map to advertise this MAC statically and redistribute with ISIS.

B. Unknown unicast flooding is not allowed.

C. Use the otv flood mac <> command to selectively flood traffic for a given MAC.
D. Use the otv isis bfd <> command to configure BFD protocol.

Answer: B

NEW QUESTION 2
The Cisco Nexus switch is connected to a peer switch that is not running Cisco NX-OS. The switches are connected using port channel and are experiencing
packet loss. Which action should be performed on the Cisco Nexus switch ports to resolve this issue?

A. Turn on lacp suspend-individual.
B. Turn on lacp graceful-convergence.
C. Turn off lacp graceful-convergence.
D. Turn off lacp suspend-individual.

Answer: C

NEW QUESTION 3
An engineer is troubleshooting a fabric discovery failure. Which two requirements must an engineer verify about switch connectivity to solve the problem? (Choose
two.)

A. A Cisco APIC must be attached to a spine node only.

B. A Cisco APIC must be attached to leaf nodes.

C. Spine nodes must connect to other spine nodes.

D. A Cisco APIC must be dual-attached to two separate spine nodes.
E. Leaf nodes must connect to spine nodes only.

Answer: BE

NEW QUESTION 4
Refer to the exhibit. Swl and Sw2 are two Cisco Nexus 9000 Series Switches that run Cisco NX-OS. They are VTEPs in the same vPC domain. Which statement
describes what happens in this scenario?

A. Swl drops all traffic because there is no (S, G) OIF list to encapsulate VXLAN multicast packets and send them out to the underlay network through the uplink
interfaces.

B. Swl performs the VXLAN multicast encapsulation and decapsulation for all traffic associated with the VXLAN VNIs.

C. Swl and switch 2 perform the VXLAN multicast encapsulation and decapsulation for all traffic associated with the VXLAN VNIs, depending on the hashing.

D. Sw2 did not send an IP PIM register to the rendezvous point for the multicast group of the VXLAN VNI.

Answer: B

NEW QUESTION 5
A customer configures HSRP between two data centers that are interconnected with OTV. The configuration succeeds, but traffic between two ESXi virtual hosts
on the same site is routed suboptimally through the OTV overlay. Which two actions optimize the traffic? (Choose two.)

A. Disable first-hop redundancy.

B. Filter HSRP traffic by using a Layer 3 VACL on the OTV edge devices.
C. Filter HSRP by using a Layer 2 MAC-list on the ESXi vSwitch.

D. Filter HSRP traffic by using a Layer 3 VACL on the ESXi vSwitch.

E. Filter HSRP by using a Layer 2 MAC-list on the OTV edge devices.

Answer: AB

NEW QUESTION 6

An engineer is troubleshooting a packet flow from an access leaf to spine. Which EVPN routes are expected on this connection?
A. EVPN Type 1-5

B. EVPN Type 0,9,15

C. EVPN Type 9-15

D. EVPN Type 0,16

Answer: A

NEW QUESTION 7
Refer to the exhibit. Interface fc1/5 is offline. Which action should be taken to troubleshoot the issue?
A. Activate the correct zoneset for VSAN 100.

B. Update the FLOGI database to contain the FLOGI entries for interface fc1/5 in VSAN 100.
C. Update the FCNs database to contain names for VSAN 100.
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D. Configure the upstream ports and the server ports to be in VSAN 100.

Answer: D

NEW QUESTION 8

Refer to the exhibit. An engineer is configuring boot from iISCSI on a Cisco UCS B-Series Blade Server, but the LUN fails to mount. Which action resolves the
issue?

A. Statically configure the target information in the Boot Policy.

B. Configure an MTU size of 9000 on the appliance port.

C. Configure a QoS policy on the vNIC.

D. Set a connection timeout value of 250 in the iISCSI Adapter Policy.

Answer: A

NEW QUESTION 9

Refer to the exhibit. A web browser displays a “not secure” warning message when accessing the web interface of Cisco UCS Manager. Which action resolves
the issue?

A. Load third-party certificate to UCS Manager.
B. Use the correct TCP port for HTTPS.

C. Use a supported web browser.

D. Use a supported version of UCS Manager.

Answer: A

NEW QUESTION 10
An attempt to use a global vNIC redundancy template pair results in a service profile that fails to apply. Which action resolves the issues?

A. Create the peer names before creating the templates.

B. Assign the secondary template first, and then set the peer name.
C. Assign both templates simultaneously.

D. Assign the primary template first, and then set the peer name.

Answer: D

NEW QUESTION 10
An engineer attempts to register Cisco UCS Manager to Cisco UCS Central, but the registration fails. The engineer can ping Cisco UCS Central from UCS
Manager. Which two actions must the engineer attempt to resolve the problem? (Choose two.)

A. Synchronize the date and time to NTP for Cisco UCS Central and the Cisco UCS domains.
B. Apply the UCS Central license to UCS Central.

C. Place Cisco UCS Manager on the same subnet as Cisco UCS Central.

D. Allow port 443 between Cisco UCS Manager and Cisco UCS Central.

E. Allow port 9443 between Cisco UCS Manager and Cisco UCS Central.

Answer: AD

NEW QUESTION 15

A user reports that they cannot reach from a UCS server to an FC Storage array. Which command is used to test communication between an FCF and a target?
A. fcroute

B. traceroute

C. fcping

D. ping

Answer: C

NEW QUESTION 20

Refer to the exhibit. An engineer is troubleshooting why userl, user2, and user3 from group STORAGE-ADMINISTRATOR in Microsoft Active Directory cannot log
in to the Cisco MDS SSH CLI. Which action resolves the issue?
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A. Configure the role name to match the group name on Microsoft Active Directory.
B. Include specific users into MDS role configuration.

C. Configure SSH logins on Cisco MDS switch.

D. Integrate Cisco MDS with Microsoft Active Directory.

Answer: A

NEW QUESTION 25

Refer to the exhibit. When an engineer inserts 8-Gb FC SFP port 15 on a Cisco UCS Fabric Interconnect, the port fails. What is a possible cause of the issue?
A. Port 15 is configured as an Ethernet port.

B. Port 15 is configured for 4-Gb FC.

C. Port 15 is missing a license.

D. The polarity of the fiber cable is reversed.

Answer: B

NEW QUESTION 30

An engineer is troubleshooting a failed DCBX exchange between a server and a Cisco Nexus switch. Which action allows DCBX to successfully negotiate?
A. Enable ETS

B. Enable PFC.

C. Enable Cisco Discovery Protocol.

D. Enable LLDP.

Answer: D

NEW QUESTION 34

Refer to the exhibit. The EEM script fails to send an SNMP trap when a user attempts to enter configuration mode. Which configuration is missing from the script?
A. event statement

B. event-default action statement

C. policy-default action statement

D. IP address of the SNMP server

Answer: D

NEW QUESTION 36

Refer to the exhibit. The EEM script overrides all events in the system policy. What should be added to the script to resolve the issue?
A. event statement

B. environment variable

C. event-default action statement

D. configure terminal action

Answer: A

NEW QUESTION 40

DRAG DROP

Drag and drop the commands from the left onto the correct categories on the right.

Select and Place:

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 45

Refer to the exhibit. Partial configuration from N9K-1 and N9K-2 is included. The client has two WANs connected. WAN-1 is for normal business-day activities.
WAN-2 is for server backups during nonworking hours of 1:00 a.m. to 5:00 a.m. daily.

The client says that at the scheduled time for backup, the data center server failed to use the WAN-2 link to back up the servers to the cloud backup system. What
is the solution to this problem?

A. The event timer must be written in epoch time format.
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B. The Cisco Nexus switch must be configured with one applet because a configuration with two applets will fail.
C. The Cron entry must be configured without double quotes.
D. The applet called “Backup” must include an action to remove the current static route.

Answer: D

NEW QUESTION 48
A request to activate the port security database is rejected. Which action do you perform to investigate the cause of the issue?

A. Enable the auto-learning feature.

B. Use the force option to identify rejected devices.

C. Find conflicting entries between the active and configuration databases.
D. Verify that devices are fully attached to the active database.

Answer: B

NEW QUESTION 50

DRAG DROP

A firmware upgrade on a fabric interconnect fails. A bootflash contains a valid image. Drag and drop the recovery steps from the left onto the correct order on the
right.

Select and Place:

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 52
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